602

SCH# DESCRIPTION COLOR UL PART #

01 Bottom plate Blk 101226
Bik-8 UL 101547
Blk-C UL 101686
Gm 100391
GmB UL 101550
Red-C UL 101732

02 Back Plate Blk 101227
Bk-C UL 101688
Grn 100392
Red-C UL 101733
03 Side plate Blk 101228
Blk-C UL 101669
Gm 100393
Red-C UL 101734
04 Topplate Blk 101539

Blk-B UL 101539
Blk-C UL 101600

Gm 101558
Gm-8 UL 101558
Red-C UL 101735
05 Side burn plate 100330
(05A Side burn plate UL 101585
07 Top baffle plate 100396
08 Leg Blk B/C 100817
Gm-8 100382
Red-C UL 101727
10 Draft regulator Blk B/C 100608
Gin-8 100387
Red-C UL 101725
11 Air flow plate 100336
12 Cookplate 100898
12A Cookplate uL 101557
13 Smoke hole cover Blk 100338

Blk-B UL 101540
Bik-C UL 101700
Gm 100385
6mB UL 101567
Red-C UL 101730



14 - Smoke outlet Blk 100646
BlkB/C UL 101559
G 100386
Grm-B UL 101560
Red-C UL 101729
15 Cast iron door handie 101085
15A Cast iron door handle uL 101601
16 Insulated washer uL 124853
17 Bakelite knob 120015
17A Wooden knob 124852
18 Door pin 120002
30 Front complete w/ hook Blk 150806
Bik-B 151185
Bik-C 151300
Grn 150393
Gm-B UL 151186
Red-C UL 151359
31 Door Blk 101199
Grn 100383
Red 101737
32 Decorative top Blk 320009
Grn 320006
Red 320042
33 125 mmto 6" adaptor UL 124817
35 Bottom burn plate UL 101519
40 M6 x 16 flat head screw 9942
41 M6 washer 9975
42 M6 x 25 cheese head screw 9982
43 M8 x 20 cheese head screw 9989
44 M8 x 25 flat head screw 9948
45 M8 hex nut 9931
46 M8 x 80 cheese head screw 93%
47 M8 x 25 cheese head screw 9990
48 Hook for handle 120013
49 M6 x 40 hex head screw 9907





